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(1) GRECR ditl-YAoll % scll Adutse UR YRtd 4Ad [(Aad oiyollell GUlol sl
() GReARA Wdlal udleuHi HAd Y236l UayRasiHl vWAA sl sHIs Yool ditl-
YA % ol el dAHIM clitll-y Aol AolAse UR YR YA AR wlAUR Sloil

Ysl sHis Yol wal A deelui % sal

(3) GREAAAN Gscl YUolle] UYS UlEol ¢ oAUl citil-YAoll B 53 3llcll taulal

A o8l



001. AU AWSIR gIRL 23] epl 251di® Wil (Bio technology policy) $4L AHU W2 ANER 53469 ?
(A) 2015 12020 (B) 2016 €1 2021
(C) 2014 12019 (D) 2017 212022
002. Dl sl dwdl.
(1) 2U%RAAHL 4 A2A4 WIS 241 23 A-Y3 (Sanctuaries) 2UAA 8.
(2) 24l 11.4% AL [yl ardl 2uda 9.
(3) 541 oL e valaREL [Bax Hrtaumi 2ud ¢,
(A) NUH AUSA A1 69, (B) oflog cusu 13 9.
(C) Al awsu Y 69, (D) UM, ollog 24 Alog aisa 1y 8.
003.  Geuor 24 v [Aeudl 50 Al Wl sul vitdi-ll A3l s1dd 6llS 69,
1) sMsR v A weloy (Commissioner of Geology & mining.)
(2) And uld= anam oS
(3) $=3su 0ll. (Index B)
€)) NUEEEERICE SRV B NI R EEX TR E (Diretor of Govt. printing and stationery)

(A) 1242 (B)2 41 3

(C)3 4 (D)1,2,3 414
004.  rRud HI 2154 bl Ses s2al vig-ll adlaz /[ e ?

(A) 40 (B) 42

(C)44 (D) 46
005.  Sraui AwuHi s2dl WA siulRan siia 8 ?

(A)6 B)7

©)8 D)9

006. 28 Ue2l (Union Territories)Hi Alell ay 2nld umweL sa ugani ¢ ?
(2011 A~uu Yao) : Ald uwaL — Sex Ratio
(A) W<l (B) Afl21e
(C) xR A [8q (D) aalgu
007.  acll 1Rl 2011 Yoror AL UL e Alell Ay a2 Sl UHIIZAL PUAAL € ?

(A) L sisL (B) 59
(C) MHELINE (D) aslexl
008.  axdl datdl 2011 Yaror AU sUL (el AgURA Al adl-l 2siad, sa ardli wani, Al
auiR €9 ?
(A) 59 (B) b sisl
(C) YR%"IR (D) HUELAE
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009.  2il2iHls WaR w2 (Automic Power Plant) i A6itld A% Ass1idl 53 s g dlou «efl ?
(1) ARWYR 2AT21HLS UIaR A — HEIRIY
(2) s %R2101 229 (Kaiga Generating Station) — $Ql125
(3) R Ai2iHls wiar R — Grrus
(4) $81544 (Kudankulam) 45122 wWar 22+ — xAisue e
(A) 4 (B) 2
(03 (D)1
010.  g2ril gl U+l 6iY (Dam) i Ueidld AU ASSLUSL 53 A Ulow 2l ?
(1) HIMRL AR — Ui S2 — Yoot
(2) e1migR adl wigse — Birer
(3) [Bgs wps2 — suiles
(4) nyRsll Wi s2 —ulam vidoun
A4 (B)3
(02 (D)1
011. QU [Secuil / S dl A dril 220 WS suL A1 dlou e ?
(1) A UQqn —uyR
(2) Hl8Ard1e 518 — ANYR
(3) HeRIA VAN — HYR
(4) Elddieue $12 — AU3d0UE
(A)1,2 413 (B) 2,3 1 4
(C)1,3 ¢ 4 D)1,2,321 4
012. 9yl Quisl 241 dnsll AU UL 56 A ddu e ?
(1) Agag Wl — 2ueeudl
(2) s1510801 51445 — 2idRud] Slawal
(3) -ig2isR — sQ8dAl
@) 5. 1. Yyl — sl asll
(A)1,2 413 (B) 1,2 ¥4 4
(C)1,3 ¢ 4 D)1,2,3 214
013.  cuRadl sa 214 Aiglas Slasian i dan Dl W4 sy enucy Alefl o & ?
(A) Hori R dlorion H[E: (Bhubaneswar)  (B) 46cl (Dhauli) bild w22l sia2d siell
(C) W1y 1 vid-l yearui sl 3uRsl (D) Geudlldl vud-l aus -l uld
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014.

015.

016.

017.

018.

019.

[Rig vllall 2As0q suoid 56 [Qord ulon el ?
(1) aisi-Nl quardl ueald 244 QR 512680 Sl (ol v €.
(2) vidlai woian wel2i-i Guaiol Adl S,
(3) 2% L ARG AU HIS ALY ALY 8,
(4) usi-i Wl Sauidl eiedl gl
A1 (B)2
©3 (D)4
A unarll RQieuglazi we 59§ [Qaruel (School) Hetardl sdl ?
(1) 2R (R54) [Qenman (2) HYRA 254 (3) xHadl 254 (4) MYRASL %A
(A)1,2 243 (B) 2,3 21 4
(C) 1,324 (D) 1412
cIRcla Agla [Qad you seq1 deld el s2a e ?
(A) =R (B) AR
(C)uin (D) ol
“quunp’, “dlR Wil ndl”, “viouRl”, “refl urguy el Rl Fdl dad sunl Qus slae ?
(A) deisR 2uat-M %l (B) Uil uid
(C) »aR¥g Hausll (D) HSI2AGES BAL
(1) s S, AL 399 AL AHU LNVUHE FUAHL UAA Sl
(2) dgl wyRL, wedlyotd asli 53¢ €9, 21 dHi udde, 2ueuel adiR-l [Qoidl Feuda 6.
(3) del aaecll [aeudls susta-ll (ol ameuda 9.
(4) a9l g2, siell, @Rl Yeausid dlda edl.
BuRsd USL suL cusAl dlou 69 ?
(A) 1342 (B) 1,243
(C)1,3 ¢ 4 (D)1,2,3 214
3o Aetrtl RY[FUHL 2 -l ASA-L A31AL UL 5Y s g AloU Al ?
(1) AR Sv% — VHELAUE
(2) Al RYFuH — Awsi2
(3) £0UR la RY[FuH — AH-PIR
(4) U2 ¥[3uH — (uardR
(A4 (B)3
(©)2 D)1
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020.

021.

022.

023.

024.

A 5100 £ Auisl 2 slAvti-u A3 5120 WL 5y sy dlou -2l ?
(1) 1 s(Q xruga — odd [Qoa
(2) sla suazig YR — axd [Qan
(3) s(a 22U — oud RURA
@) slaalRx ye ald — uHican
(A) 4 (B)3
(02 (D)1
RURAUL AcArtdsielr SEAL B RANA ALY AISIUL dUsAA 89, d USL sU1 UL A3ST AU 8 ?
(1) g8l — gqon AR
(2) ANUBE v — AR gol
(3) [BRir s — B34l wl3se
(4) LULRS e — gV g1

(A)1,2 243 (B) 1,3 211 4
(C)1,2 211 4 (D)1,2,3 214
dpopued-il Aris 2R dll gl ulou dd disal.

(1) 2uad-H Bl (A) ¥8Hsl

(2) usneis salRa (B) st+d s(a

(3) R lzdla (C) $¥H L

4) uaeus Rass (D) A5 udd
(A)1-B,2-C,3-D,4-A (B)1-A,2-B,3-C,4-D
(C)1-C,2-D,3-A,4-B (D)1-D,2-A,3-B,4-C

AAenS (Salbai) AR 239 W2 vivter Gualoll edl 12w 5.
(1) MR1s121 012 20 ay ) ild sy 234 Al
(2) 822 2l Bur s eona Boy sUML 1A 8.
BuRlsd SRRl UL o g O ?
(A) UM 5181 12 69, (B) tllyg s1R@L g ¢,
(C) naH 21 ollog s1201 61 Al S, (D) NaH 1 ol 51281 61 Aoy e,
s [Adlam 6ivdls (Lord William Bentinck) g11 % JHIRIZAL $3E Sell d, 531 el ?
(1) ala wan v uldein.
(2) A8l vidl / Beurg BuR 52 aydld.
(3) Su-ll-it 22usS wAlAHI B2l
(A) 1212 (B)1,2 %43
(C)2¥43 (D)WL 1
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025. &S 55 gl vidlandlqu (s w2 DA W4 56 sidadl s3a edl ?
(1) L. . L. dldas: vdad Yool s10<) a3 s34 ¢dl.
(2) £rs1 vi2staan vidl YL s34,
(3) -l 1904 Hi A 5131 (AR A=l SIAELYAR 534 Sdl.

(A)1,2 243 (B) {12l 1 244 2
(C) WA 213 (D) WA 1 413
026. ®asini eagtil (Devadasi) utadl sa 22 w18 isonda edl ?
(A) wa—ua e —yl (B) ugula-ua {22 — 5643
(C) se1lu ugiga {2 —viogR1sl (D) Alus AN w22 — eistene
027. P’ AHUHI BTIR HIRARE B AUWIR [ HHI2AL S1IRd Sl d Youd sUL 6igell SAUHE 2L Sl ?
(A) a [afa (B) M3
(C) s (D) vitud
028.  <l2Udl ¥R S1 (Hoysala Monuments) 4L 22100 %l HA ¢9 ?
(A) s3] A4 glUR (B) QL3 i iy
(C) HYR 2 6AIER (D) A1) 244 AR

029. A Ul s 20 vzl vl ¢l Aol (Mural paitings) Al 1oL €9 ?
(1) 2l sl (2) [awalsile:  (3) uill qu

(A) 1 (B) 1412
(C)2213 (D) 1,221 3
030. Al MY gRuA 251 3 il (Bronze) 3ldil si-iacini 2044 gdl dA S2e 12t g ?
(A) 28 €12 (B) &9 &1
(C) AR 812 (D) 6l 81
031, “DH A5V’ 3 BHL AU DAi-il YA ARlAA €9 d-llL Quis siRLed ?
(A) v (B) Brs1s)
(C) stll2 (D) YREIRA
032, 95Ul [ HSIRI% GULE HRASL AMPUA Yri: AHH ti-UAUHL 518 HS Al L MpdA 89 ?
(A) 1% AH (B) tucu® [du-ua
(C) 2i2u eusd (D) U1 2aAHv
033.  noga sHle Asidl - suLsRUR wellaL e ?
(A) PSR AL AHUAL S AU AER., (B) AL S AHUAL 21214 SlAgin 12
(C) Aader-u [z, uaH A-uudl. (D) HSHEAWS U Al WA sl
034. - 1850 2l 1900 i AH2 duonHi AU UL 56 HldsifAs naasa auai 2uda gdl ?
(A) Rl SR (B) gotaL gl
(C) HAsL (D) [Roitzuon
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03s.

036.

037.

038.

039.

040.

041.

042.

1857 UL 2AcoAdlll UUH Ygril 5UL Aelil d-l AR €90 5301 us3dd Sell 241 uedlell Al Hid-l uom
2 el ?

(A) Uil 86 Yl (B) $a2 A2t

(C) vur t181gR vl (D) dicu 2id

D U4 s a0 oLl 121 d1Radlae (Misgovernance) il $IRRIAUR BILAAL 534 8, ?
(A) AaH (B) »ixll

(C) Uy (D) AdAIRL

QUR AL IR RIHE “uord” L cavul si-l AHId 2 69 ?
(1) MIRA ARSIR A AAUE
(2) AU ARSI, [Aain Hsn
(3) Rl %A U517 [0 S0l drim 2[As $ ol A Hivl,

(4) ¢uellerd) udl.
(A)1,2,3 214 (B)1,2 %43
(C)2,3 2 4 (D) 1,2 ¢ 4

*RAr (A ARUHL IR AR QA SR Ui H1AE 8g 2 AR scui 20dd 8 ?
(A) 26 1412 1949 (B) 25 A%1R 1949

(C) 27 1d¥1R 1949 (D) 26 ¥R 1947

“UHIAALL 855 Slal £9cl AU A2 244 sunst W2 s1S vt AU 2L $AUML 6 298l Al
— 4L GBI HIRdxL STHIRBRIAL $U1L HUEsAui Ruadni 2udd © ?

(A) 14 (B)15

(€)16 (D) 17

ot A1, AUl 2 gl -l disldn 4saim 52 ddl guazHi uRad gl ddl Dl
A% AR HMRUR 58, — 211 bUoLd iR 51 2R sani sulda o ?

(A) 36 (B) 37
(C)38 (D) 39
QUR AL t{ERRIML, WIUR Sl M s, Aldt-u sa yaRiell erma saumi »udd edl ?
(A) 40 (B) 41
(C)42 (D) 43

A ulasll-)l el st HagRoHE uHIde w6 ?

(1) AL bi A3l Y2LAAL UKL,

(2) oAl [AanucuHi Q2184 el
(A) =L 1 Hi oeudd Aeusilal (B) At 2 Ui saldd ueusluil
(C) 1 ¢4 2 Ui saldd neuslui (D) Buisd UA sy Al
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043.

044.

045.

046.

047.

048.

049.

050.

HL. Gursguldsll e sy awsu aidu 69 ?

(1) dxliri SlELl Hed uin au-] €.

(2) A4 Uldlrll el AU H. esguldsll 20U 8.

(3) dii-l el iy dan AA MM bir el AEULN AL AHIAA HASIRIAHE Y 8.
(A)1,2 243 (B) 121 2
(C)1A43 (D)2 ¢4 3

“BadH uay Uidi-l [Ads-oyfg g2 siduel by sad Reund 2ula sudl, gsu-uy, e,
2 GuR 2fle sau-l v yrall 2ufl as 9.7

AL AL HURAAL BRI $UL 2U[Esani geuani 2uddl ¢ ?

(A) 134 (B) 135

(©) 136 (D) 137

vl o2 WG 5y Als Aoy el ?
(1) axi-l [(Ang)s w. ngulasi 52 8.
(2) Azl [Raggs . ual2a veiddnl ad a3, ddl astd #3300 6.
(3) axii-ll Yed uin an-l giu 6.

(A) NAH s (B) tlloyg s

(C) Al s (D) BuRiSd L1t sl

“Upydil Yed via an- 2890”7 21 A YA HIZ HIRARL t{EIRRIAL AL 2 sani
galaaHi 2uda ¢ ?

(A)243-B (B)243-E

(C)243-C (D)243-D

AL nuldsll gl 2 wu uaME [AHs scumi 20d € dui s1ug Buid S2dl uedl §lu e ?
(A)3 (B) 4

©)5 (D) 6

yeull [Auas susiaui um. naadl g:00<) Gu uldeid 29l oAl curd-L sitReAL suL
2 saui scumi 2uda 9 ?

(A)326 (B) 327
(C) 328 (D) 329
als Al 2R ST, FUAAL G{ERRL sAL 2R sani salaquni 2udd © ?
(A)319 (B) 320
(© 321 (D) 322

4l A-24 [Al¥a-u sMan 2152 (The Central Vigilance Commission Act) 41 ANHI AHAH] Ysuni
A Sl ?

(A) 2002 (B) 2003

(C) 2004 (D) 2005
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051.  Arad S-sHur s suoidul sy aisy Aoy 42l ?
(A) s 2L L. 12 21521612 2005 (12-10-2005) 1L 1% 244,
(B) d-ll Azl $41 18, 19, 20 24 25 Ui wRuAA 69,
(C) A €3 saudl uxu 89,
(D) Ad 518 €35 oAl Ay U 8.
052.  su-ilnl wist A3AuHL BUR 59 cuold el asu e ?
(A) $UHl 51 512501, WL 24 A1
(B) $u-lld G1oARHE AL A dui Su-l-l [840
(C) surll-l Raesdl - eduu 244 34l sl
(D) Gedrni g4 d2uami Susll-l [l i culdg »ual-
053.  {ad oivs 611 WA A-florui 5§ suotdi-l asuda wu ¢ ?
(A) vdlad & (B
(B) M5 A -t GellasiiA (B
(C) AU AR 217 4600 ALSIH 2UHT 2iad, (B
(D) BuRisd A, B i1 C usiz-u (8wl

054. Hl Aana s16AloL tivg (The National Housing Bank)+il 2{15\'2[ W14l (Wholly Owned) sidle9 ?

(A) 222 615 i1s S[-3uL (SBI) (B) Raxd 6is 2lis S[=31 (RBI)
(©) 2us.A.2us.{l.2us. (ICICI) (D) ASs Sl sIURA 2418 SRuL (LIC)

055. AL 56 511208 Rovd 6ivs 2415 SR (RBI) 611 scHi »ud 8 ?
(1) Gi-5140 U531 dRad anadl.
(2) ti=sidl adl auvnil vilaal diogl.
(3) ti=siHl s11020 vity sl Y 2uud).
(A) 1342 (B) 1,243
(€)1 3 (D)2 43
056. 6l I 351 (Basel IIT) 9 6uoid A12 AsuAA 9 ?
(A) cualdisa 15aAE (Biological Diversity)-il 2881 HI2
(B) “3 818 91U”’ (Green House emissions)-ll [Ad=191 w2
(C) ti-51 1 -neulzu Mzl sl axd yarar vl

(D) [As(Ad e g1 [Asiuella 2o 25iadie 2uyal sustd.
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057.

058.

059.

060.

061.

062.

13 6iv$ ULyl (Lead bank scheme) 521 g2l A3 sAUHL 2uda 8dl ?
(A) HIZL Giesirl oAl Yol WHIRMHE €35 el 33 6.
(B) tivslMi dgRd 8Rs1S #3169,
(C) y2a [Asn w2 Alssy el runeldl woidld oirg Aludl 21 2170 o151 018 AsAn 24,
(D) €35 Gir512 t1Ad Q8 d HIS UAL Sl
bles 221 ALHUL $Y cUsA [ csAL AU &9 ?
(1) 5130 AHANAA @i A+ Ao vivs 24ls Swflan, 214 vivsiA Qion duoud (Ao >ud o,
(2) Givs 22+l $S1R $10 244 Girs1 (A0 244 SR EAUL 5512 53 69,
(A) NUH AUsA A1 69, (B) vflog cusu 1y 9.
(C) uaM 241 6lof, 61 sl A1 6. (D) UM 244 6lof, o1 sl i Al
A5 514€L 2002 (SARFAESI ACT 2002) 6Utid $4L LSl [ sy Al 691 ?
(1) Gi=sill NPA 82130 24 SIUEL B3Mi 20dd 69,
(2) AYALd HI2 GUSLER Rl adlae [ [Mesel 8aoid s30 a5 6.
(3) vid ol HI2 24 SIUEL AL Ul e,
(A)1,2413 (B) 122
(C)1213 (D)2 1.3
@t*’@\él %Sé&éj%ﬂél 2121£12) (Central Electricity Authority) »i9i-il Ausl {0l A US| su1 sl 412U €9,
(1) U S1UEL 86 A1AA AU 9 i drl SAS)AE 24522003 @y ud 6.
(2) R SAsIS W Yarot d nl 52 69,
(3) [aotll Gewg -l s1d axal arar %330 Yl s a3 .
(A) HIA UAH S A1 69, (B) 1, 2 clsul i 69,
(C) 2 ¢ 3 sl A0 89, (D) 1, 2 21 3 LSl 0 69,
52l 241 d=u 431 butid (Committee and the head of committee)-l Ass1idl 5y 73S dlou el ?
(1) 2[Ae Yougum — Higadl [ sondL we qguis sl sl
(2) G[%¥d 424 — FRBMA Act. 2003
(3) -uRwaR yld — siule dAa--
(A) 1212 (B)2x13
(C)1213 (D) 1,221 3

SlaMi A GHR $di d-it Rl Gz 4 2Ll 9. uin gy udai 2d 524l d-u Rardl GH 7 2wl edl. 2u
Aoouui Ml Gu: sedl gl ?

(A)35 i (B) 40
(C)45 i (D) 50 @
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063.

064.

065.

066.

067.

068.

069.

25 @l 140 31 Ui 6l argil Wile 8. YA ARgHi 15% d21d WAL & 2 olle aqul 20% a2l
(Discount) HOL 8. 61 AR2UHL a2l 254 Ul 9 dl arg2ill ud seel wal ?

(A) 50 31. 1190 3L. (B) 75 3L 241 65 3L

(C) 80 3L. 241 60 3. (D) 40 3L 24100 31

25 A5 3600 3L Hi 2614 A dl dA120% 15l WA S, A d 3150 HidA dl d S2e 251 1451 [ g5
a9l ?

(A) 4% 151 (B) 5% 51

(C) 6% <151 (D) 5% sl

25 danl Ya-u wami sl agaell i 69 2 451 agaell udar10% 54 4HIEL vid Buumi
2ud 69,
.

A7 B Al Y8 U5 : 469 245 A A 7500 3L 151 HOL 8, U AU $4 15l el sal ?
(A) 15,000 3L. (B) 12,000 31.
(C) 10,000 31. (D) 13,500 3L.

25 A5 10% AEL % 2 4t W2 15000 31 F A1 53 6. FAUR 240 A5 15000 3L 2 A W2 Asg(&
UL AR 52 € U AANHL vl cugHl S2al 1. -l R ugel ?

(A) 3000 3L. (B) 150 3L.
(C)3150 3L (D) 300 3L

N

x 2y 28 514 12 [Bauu, y 241 715 [Bami 244 7 217 x 20 [Bauiyel 52 6. % x, 5 z et e wefld
$I0EL 52 dl Seeu [Bauui stnolldl yel ey ?

(A) 5 [Rau (B) 7% Ban

1
(€)10 [2an (D) 125 (Ban

1R 8 Slaidler / sausl ssudl usa acidld wou au 9 di d 2.5 Hldle Hisi ud 9. ol [Bad
10 (5.4 /scus-) a3uell o dl d 5 {112 adell ugial 9 21 AU B8R i o »idR 52¢ 8ol ?
(A) 6 (3.3, (B)5 (3.4

(C)4 3.3, (D) 8 (3.3l

AwSu a1y sl 2 205l 8 sasui MRS a8, Budu el 6 sasHi MRAS N0 8. uan 6 saus e

A 2 B WSY Al UMl 20d 8. 21 0041 sudl-l 2(5 B wdu s2al saws g amal 331
€9 ?

(A) 6 5415 (B) 4 5415

1 1
(€) 25 seus (D) 15 seus
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070.

071.

072.

073.

074.

07s.

076.

077.

078.

999 x + 888 y=1332 i1 888 x + 999 y = 555 €id di x2 — P2 GIRAGIR S2aL U ?

A)s (B)6

o7 (D)8
Ax+y—T=02"43x+y—13=0 SiA didx?+ p? + dxpll [Bud seedl el ?
(A)+75 (B) -85

(©) 91 (D) 100

1Ay 2016 U A Y5AUR 9 el 1 A-Y2ULL 2017 U A UL AR 82 ?
(A) alRaR (B) dlar

(C) AMaR (D) 23R

aan

10 av usai 4 calsail-u gZoidl U212 G4 25 Al Sdl. ULl AU QWVUHI 21 gZ0Hi 6l QL HdR 6l
U Sl % ~H AL 29 2ot AR U302 GHR 25 A 8. 0 AootHl L il GHR sedl el ?

(A)2 (B) 4
©e D)s
a0l cdlelln el / a0 Assiuidll 53 A3§ ulou el ?
(1) Rand S-2dleye 25 5w 22 ArgHre — gledl
(2) 514% 118 5~ AAxH-2 — [Asenous
(3) Ranid - x5l — yBl, wgsana
(4) Sl AAeye dirdR 254 — ds

(A)4 B)3

(0)2 D)1

A¢dloL (Welding) SIHHL $UL 914l Guaidl i €9 ?

(A) 250137 21 815 gL+ (B) 215013, S1 glot w2l
(C) st AU A 244 S 2o (D) 21503 2 Al

ALY it e laiit wellH) vuRie (Salinity) s2cl 9 ?

(A)2% (B)3.5%

(©)5% D) 7%

R Aivisll vildld s12 sl 9 AR i 25D’ (Iron Oxide) A 8. del A2AUHL

(A) Wl aogHi 515 5512 Udl el (B) Vel aorui ueist w69,

(C) vl aorui aturl w69, (D) vl Iormi [ agni 518 $51R Ul el

3Aleia (Decibel) 24 2l asfl W2 Guaiomi Al 2ud ¢9 ?
(A) usta-il adl ;e (speed of light) (B) |24l Sl sl wiyan (Radio wave frequency)
(C) 1%+l dlsidl Hiual (Intensity of sound) (D) 2R¥H] dlsidl Myan (Intensity of heat)
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079. A2 SuR ‘Light year’ ¥l 58 6ilotd HIivaAL W2 Gualomi dami 2ud € ?
(A) [l 21l Hual (Speed of Air plane)
(B) ustat-il 2ufd Hwua (Speed of light)
(C) ARIAL AR, ¥{dR HiuaL W (Stellar distance)
(D) 52l a1l Hiuan e (Speed of rocket)

080.  “USIA A=A’ “Photosynthesis” -l uEuL 2 Aiell 33l 2 €9 ?
(A) Yo cuSeni (B) use cudaHi
(C) cud cu2ui (D) M

081.  uuu suHi viledlsa ud 2x4is S (Botanical survey of India) 6121 2016 i adiui S2¢ll Al woaldi
i suddl ¢ ?

(A) 495 (B) 497
(©) 499 (D) 501
082,  SIAML WML “CTBT” AAMHL €9, CTBT AYel vy U g ¢ ?
(A) sinllg-fla ysdluz 222 ouq g4 (B) sinlldrlla 222 birs 222
(C) sinll8~fla 232 tun 4 (D) sivll8~fla 222 in 222
083.  AUAARRIHE UL tv) UHIL Q2LMOL S2di 251 slu e ?
(A) 16% (B)25%
(C) 78% (D) 92%
084.  IRd U1, Ad (GARV) Uidet {121 WS 56 dloreit / U 118 AAa 9 ?
(A) 63 st 2un vueHl (B) Gid %[ / LED t1¢ot awuraul aio-it
(C) [ e un waild Q- (D) ““OTA UL 9131”7 1454,
085.  S1aHi § dlA— ‘e-Visa” -l 19143 161 22l WAIN51 HIS A SAAUHT UAA B, 24 U ...
(A) Wt [QHin wast uedl waal
(B) {121 6iER1 (Sea port) Gudl unal.
(C) A 21 B b1 2210112fl cu™ Hoal.
(D) A 214 B U4l 15 L 208 21 ciey/aR1a3 1ol Al

086. -flordd s Al (Lucky Grahak Yojana) gloll 4 - cauiz Aol (Digi Dhan Vyapar Yojana)
SUUL GIRL AHAHT YUK 20dQ ¢ ?

-

(A) -UQ 2uui (B) A -2 siuiRaq s Sa

-\

(C) -eu Hausy (D) GelldL A, S1HA Houau gIRl
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087.

088.

089.

090.

091.

092.

093.

“yif 51 e1al” (Paika Rebellion) 5 % ‘S22 SR3uL $url’ [A34 s2cuMi 2044 8dl d [Ad1R Srani s
A%BAML 20AEL 8 ?

(A) 218U (B) dulRa-ug
(C) Haumea (D) [Bwaq uea

“AUAL UL’ 2iddld 100 F2al dvudl, IH MRl Al 53¢ 9. 2L Al 5L [yl A1
opruqeul €9 ?

(A) ARR, (B) ARiA
(C) [aged (D) BALAYR
[Gs¢y Ao (Vikalp Scheme) 59 tuoid uoi[Bd € ?

(A) 24 2uRa As(eus (B) aslaus Qaw ugdl
(C) aslaus [aooull ugdl (D) Asleus e A%+l

-\

VVPAT (The Voters Verification Paper Audit Trial) dldlflziz — % 4uz 2clu/eide el 2un3l dw
58 susidl gAlacmi 209l ?

(1) GHEaRG UM (2) GHEARU AGSH IR (3) HAERY UK
(A) a1 (B) 141 2
(C)Ha 1243 (D) WsL 2 ¢4 3
AU 54 Mot (Missions) 85 (Venus) 1L G0 018 As004 €9 ?
(1) @R (Venera)  (2) »15225\ (Akatsuki)  (3) #2142 (Mariner)
(A) 1AL 1 (B) HIoL 1 21 2
(C)H A2 A4 3 (D) 1,2 ¢ 3
“ofl201224%”’ $=d-A-L (BRS Conventions) $9 6ilold 8 Asoudd ¢ ?

(1) RS Yl wa

(2) LAl sA S1aRA1E

(3) ARl Yrau

(4) BURLSA U4 516 ua Adl,
A1 (B)2
O3 (D) 4
Al 2uaiomi AR WA sl ada e ?
(1) AuAA als Wit asat (2) €35 Apu-u Yeurslslal  (3) -l puaiori v 2Bd
(A)1,2413 (B) HIAL 1 1 2

(C) A1 AHA3 (D) H1A 2 ¥4 3
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094. 5% oA3g AU Al ?

2lz5iy A=eidiHlsd xioRA23) [N
(1) a2 Hleada 8l 2dlzsiu (GMRT) sad
(2) vtam 241514 (ALMA) u3
(3) 55 (Keck) 2dlsiu eI
(A) WA T 2442 (B) WA 11 3
(C) A2 413 (D) HsuRL A § dlou L.

095. AR Wis A A% A5 UL 53 A g dlou «efl ?
(1) A3HIRL (Gurumara) — AN
(2) F4EIYRL (Jaldapura) A2d Ws —ulu ooun
(3) Uil A2 YIS — UL
(A) Wt 1 (B) H121 2
(C) a3 (D) 1, 2 21 3 611 41y 2l
096.  “3vlli2 As2d¥i2”’ (Cabinet Secretariat) tlold 53 AlsA AU ?
(1) HALsl2AL / Qe a2l 939 2isaq 2 6.
(2) 2adatdl udall s1d e 6.
(3) MR A 512U Adla2Hi HEEIU AL 69,
(A)1,2 413 (B) 121 2
(C)2u13 (D) 1213

097. [A[& (National Initiative for Developing and Harnessing Innovations) Al sul [Aeon gzl AI
s 2uddl €9 ?

(A) A i3 25l Juignr-e (B) vidlaidl H-nan
(C) A8 Hua (D) $1H 21 S8l Honau
098.  Ry[FUM i drll A0 200 A35L WS 54 AE AloU Al ?
(A) e g1l Wllum — «dl [Bedl (B) AAURA RYAUH — 8e1oug
(C) 5elst ®flum — sidlse (D) "ad HAdlda ®oflam — ol

099.  uaH ;Rdly Hdlal § BuiiA HTARUS UAIMI 2Ags (Medal) Hda 69 ?
(A) Al A8 i (Saina Nehwal) (B) ¥, l. #<l 514 (M. C. Mary Kom)
(C) 5114 AN (Karnam Malleshwari) (D) &ll Hells (Sakshi Malik)
100, “Y300Wid0es $W’ (Murugappa Gold Cup) $8 24d A&l AstA4 €9 ?
(A) [552 (B) 814l
(C)2liecs (D) ei3[@r2
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Last Date to send
suggestion(s) 31-08-2017
Note:-
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with Provisional Answer Key Only.
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(1) GRECR ditl-YAoll % scll Adutse UR YRtd 4Ad [(Aad oiyollell GUlol sl

() GReARA Wdlal udleuHi HAd Y236l UayRasiHl vWAA sl sHIs Yool ditl-
YA % ol el dAHIM clitll-y Aol AolAse UR YR YA AR wlAUR Sloil
Ysl sHis Yol wal A deelui % sal

(3) GREAAAN Gscl YUolle] UYS UlEol ¢ oAUl citil-YAoll B 53 3llcll taulal
Acud o8l



101.

102.

103.

104.

105.

106.

107.

108.

109.

110.

111.

As per IRC, camber for High type bituminous surfacing or cement concrete surface is

(A)1in 50 to 1 in 40 (B)1in60to1in50

(C)1in40to1in33 (D)1in33to1in25

.............. is line which represents the nearest limits of future uncontrolled building activity in
relation to road.

(A) Control line (B) Building line
(C)Road boundary (D) None of the above
In PERT, formula for calculating Expected activity duration (Te) is ............ .
To +Tm + 4T To+Tm+T
(A) Te=—— =P (B) Te = —————F
6 6
4To + Tm + 4T To+4Tm+T
(C) Te = 6 P (D) Te = —6 P

It is maximum period by which the start of an activity can be delayed from its Earliest start time
(EST) without affecting the Earliest Start time (EST) of subsequent activity lines is ............ .

(A) Total float (B) Free float

(C)Interference float (D) None of the above

Doubly reinforced beams are provided when

(A) loads are eccentric (B) Beam is continuous

(C) Beam dimensions are restricted (D) All of above

The moment of resistance of an over reinforced section is

(A) More than balanced section (B) Equal to balanced section

(C) Less than balanced section (D) Less than under reinforced structure

As per IS 456 : 2000, development length is given by

0.75 fyd 0.87 fyg
A~ rba B) 4 rbd
0.45 fyd 0.60 fy¢
(© tbhd (D) 7hd

When column is “Effectively held in position and restrained against rotation at both ends (i. e.
both ends are fixed)” then effective length value is recommended as

(A)0.65 ¢ (B)1.20¢

(©)0.80¢ MD)1.0y

Isolated footing are designed for

(A) Bending moment (B) One way shear

(C) Two way shear (D) All of the above

As per IRC, width of pavement or carriageway for two lanes without raised kerbs is
(A)5.50m (B) 7Tm

(C) 7.5m (D) 3.50m

As per IRS, formation width for major district roads with single lane in plain and rolling
terain is

(A)9.0m (B) 8.80m

(C) 12.00m (D) 7.50m

ATQ - SETA | 16 [Contd.
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112.

113.

114.

115.

116.

117.

118.

119.

120.

121.

IRC has suggested the height of eye level of driver as .............. from raod surface for calculating
the stopping sight distance (SSD)

(A) 1250 mm (B) 1100 mm

(C) 1000 mm (D) 1200 mm

As per IRC standardization, a .............. is in the form of and equilateral triangle with side of 450
mm supported on post at height 0of 2750 mm above the ground level upto the base of triangle.
(A) Mandatory sign (B) Informatory sign

(C) Warning sign (D) None of the above

In bridge construction, the river training works should be carried out to form what are known as
the nodalpoints. Nodal points are the points of ..............

(A) Minimum displacement in a system of stationary waves along the bridge alignment.
(B) Maximum displacement in a system of stationary waves along the bridge alignment.
(C)BothA&B

(D) having same reduced level (R.L.)

For wind load calculation, V, =V, x K, x K, x Kj; this formula is used,

In above formula, K;is ................

(A) topography factor (B) probability factor

(C) terrain, height, structure size factor (D) force coefficient for building
The depth of plate girder for which the weight is minimum, is ............ depth
(A) Effective depth (B) Clear depth

(C) Economical depth (D) Uneconomical depth

In rate analysis of plastering, to fill up joints, uneven surfaces etc., the volume may be increased
| 1) which will give wet mixed mortar.

(A) 40% B)25%
(C)30% (D)35%
Voids ratio is expressed as
Volume of voids Volume of voids
(A) (B)

Total volume Volume of solids

Volume of solids

©

As per IRC - 37, It is recommended that pavements for National Highway and State Highways
should be designed for life of .............. .

Volume of voids (D) None of above

(A) 20 years (B) 10 years

(C) 25 years (D) 15 years

As per IRC - 37, its recommended that an average annualgrowthrate of ........... may be adopted.
(A) 7.5% (B)8.0%

(C)10% D) 7%

Initial traffic volume in terms of number of commercial vehicles per day is between 0-150, than
vehicle damage factor (VDF) for rolling terrain is .............

(A)0.5 (B) 1.50

020 (D) 3.50

ATQ - SET-A | 17 P.T.O.
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122.

123.

124.

125.

126.

127.

128.

129.

130.

131.

132.

133.

134.

Convert Whole Circle Bearing (WCB) to Reduced Bearing (RB) 0f170° 12’
(A)350°12° (B)170°12°
(C)9°48° (D) None of above

The line inwhich a plane, passing that point and the north and south poles, intersects with surface
of the earth is

(A) True meridian (B) Magnetic Merdian
(C) Arbitrary Meridian (D) None of above
............ is the elevation of plane of sight with respect to assumed datum
(A) Intermidiate sight (B) Differential levelling
(C) Height of Instrument (D) Intermidiate station

In plane table survey, the instrument used to measure horizontal and verical distance directly is
known as ..............

(A) Plane alidade (B) Telescopic alidade

(C) Clinometer (D) Tacheometer

In levelling, the correction for curvature (in meters) is equal to

(A)0.00785 D? (B)0.0785 D?

(©)0.0112 D? (D)0.0673 D?

A pile foundation is used when ..............

(A) the loads are heavy (B) the soil stratum near ground surface is weak
(C)BothA&B (D) Neither A& B

For better strength and stability, coarse grained soils and fine grained soils are respectively
compacted as.

(A) dry of OMC and wet of OMC (B) wet of OMC and dry of OMC
(C) wet of OMC and wet OMC (D) dry of OMC and dry of OMC
Mode of measurement of Damp Proof Course (DPC) is

(A) (Sq. M..) Square Meter (B) (Cu. M.) Cubic Meter

(C) (M) Meter (D) None of above

The provision of drainage gallery in gravity dam helps in reducing

(A) hydrastatic pressure (B) silt pressure

(C) seepage pressure (D) None of above

With an increase in the liquid limit, compression index,

(A) decreases (B) increases

(C) remain constant (D) may increas of decreas

Honey combed structures found in

(A) gravels (B) coarse sand

(C) fine sand silts (D) clay

The land carrying capacity of pile depends upon

(A) skin friction (B) point resistant

(C) None of the above (D) BothA&B

The range of optimum water content for standard proctor test for clayey soil is
(A) 6to 10% (B)8to12%

(C)12to15% (D)14t020%

ATQ - SETA | 18 [Contd.
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135.

136.

137.

138.

139.

140.

141.

142.

143.

144.

The soil plots above the Aline in the plasticity chart are

(A) Clay (B) Silt
(C) Sand (D) Organic soils
The hydraulic jump for energy dissipation is used in
(A) shaft spill way (B) syphon spill way
(C) side channel spill way (D) None of above
A SKki jumb bucket is also known as
(A) flip bucket (B) solid roller bucket
(C) slotted roller bucket (D) None of above
In lacey's regime theory, the velocity of flow is proportional to
1
(A) (9f2)6 (B) 61?
1
© 7 o (2]’
5 i
f (77
The modulers of elasticity of concrete can be assumed as ...............
(A) Ec =4500 ./ fck (B) Ec=5000 ./ fck
(C) Ec=0.75 |/ fck (D) None of the above
Concrete in sea water or exposed directly along the sea coast shall be at least ........... in case of
plain concrete and ........... in case of reinforced concrete respectively.
(AYM10and M 20 (B)M 15 and M25
(C)M20and M 30 (D)M30and M 40
The discharge (Q) through a rectangular orifice is given by
2 2
(4) @=ed b2 g (3"~ 1}") (B) Q=cd b2 g(H, - Hy)
2 r 12 12 _2 \/T o
(C)Q—Ec‘”’ 2g(H, " -H, (D)Q—3Cdb g\ Hy; — My

The buoyancy depends upon

(A) Pressure with which the liquid is displaced

(B) Viscosity of the fluid

(C) Weight of the liquid displaced

(D) Compressibility of the liquid

Which of the follwing is most incompressible fluid.

(A) Water (B) Gasolene
(C) Kerosene oil (D) Helium

The capacity of doing work by an artisan or skilled labour in the form of quantity of work per
day is known as

(A) work done (B) task
(C) productivity (D) None of the above
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145.

146.

147.

148.

149.

150.

151.

152.

153.

154.

155.

156.

1 bag of 50 kg cement =...............
(A) 0.225 Cu. m. (B) 0.034 Cu. m.
(C) 0.17 Cu. m. (D) 0.30 Cu. m.

As per Is 456 : 2000 design bond stress in limit state method for plain bars in tesion for M30 grade

(A)1.2 (B)14

019 D) 1.5

As per Is 456 : 2000, the horizontal distance between two parallel main reinforcing bars shall
usually be not less than the greatest of

(A) the diameter of the bar if the diameters are equal

(B) the diameter of the larger bar if the diameters are unequal

(C) S mm more than the nominal maximum size of coarse aggregate
(D) All of above

The loss of prestress due to shrinkage of concrete is the product of
(A) Modulus of elasticity of steel and shrinkage of concrete

(B) Modular ratio and modulus of elasticity of steel

(C) Modular ratio and percentage of steel

(D) Modulus of elasticity of concerete of shrinkage of concerete
Initial setting time is maximum for

(A) low heat portland cement (B) portland - pozzolona

(C) high strength portland cement (D) portland slag cement
The coefficent of thermal expansion of cement concrete is

(A) 3 x 10~* per °C (B)3 x 105 per°C

(C)3 x10-¢ per °C (D) 3 x 108 per °C

Los Angeles machine is used to test the aggregates for —

(A) crushing strength (B) abrasion resistance

(C) impact value (D) water absorption
Bulking of sand is

(A) Mixing various sizes of sand particles (B) Mixing of lime with sand
(C) Swelling of sand when wetted (D) Maximum water in sand

As per IS 58 : 2002, load safety factor (LSF) for expressways, National highways is

(A) 1.0 (B)1.2

011 (D) None of the above
The stopping sight distance depends upon

(A) totalreaction time of driver (B) efficiency of breaks
(C) speed of vehicle (D) All of above
Equipment owning cost includes

(A) fuel & lubrication costs (B) tyre costs

(C) taxes and insurance costs (D) repair costs

PERT is an

(A) event oriented technique (B) activity oriented technique
(C)bothA& B (D) Neither ANor B
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157.

158.

159.

160.

161.

162.

163.

164.

165.

166.

167.

Ring and ball test is usefull for finding out

(A) ductility (B) softening point

(C) brittleness (D) specific gravity

Bitamen which has been fluxed or blended with naphtha type of distillate is

(A) Rapid Curing (RC) (B) Medium Curing (MC)

(C) Slow Curing (SC) (D) None of the above

Dowelbars in concrete pavement are placed

(A) along the direction of traffic (B) perpandicular to the direction of traffic
(C) along 45° to the direction of traffic (D) can be placed along any direction
The speed and delay studies on a defined section of highway are conducted by

(A) radar gun (B) enoscope

(C) moving car method (D) traffic counters

In a compaction test, with increase in compactive efforts

(A) both maximum dry density and optimum moisture content increases
(B) both maximum dry density and optimum moisture content decreases
(C) maximum dry density increases but optimum moisture content decreases
(D) maximum dry density decreases but optimum moisture content increase
Negative skin friction on a pile

(A) acts downwards and increse the load carriying capacity of pile

(B) acts upward and increase the load carrying capacity of pile

(C) acts upwards and reduces the load carrying capacity of pile

(D) acts upward and reduces the load carrying capacity of the pile

Soil formed by wind is

(A) Talus (B) Loess
(C)Marl (D) Drift
Saturated bulk density is given by .......... of soil.
(A) Gr1 JIW (B) G+e.rw
1+e 1+e
G-e G-1
©) T+e TV (D) [+ JIW
Unit of coefficent of consolidation (Cv) is
(A) N/Cm?/Sec (B) Cm?/N
(C) Cm?/Sec (D) None of above
Precipitation caused by the lifting of an air mass due to the pressure difference is called as
(A) convective precipitation (B) cyclonic precipitation
(C) orographic precipitation (D) None of above
Which rain guage are widely used in India ?
(A) Recording type (B) Non recording type
(C)BothA&B (D) Neihter Anor B

ATQ - SET-A | 21 P.T.O.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


168.

169.

170.

171.

172.

173.

174.

175.

176.

177.

178.

In a concrete gravity dam, with a sloping upstream face, the resulting force is provided by the

(A) weight of dam

(B) weight of water supported on the upstream slope

(C) BothA&B
(D) None of these

The canal regulator, which is constructed at a diversion head-works is called a

(A) cross regulator
(C) canal module

(B) distributory head regulator
(D) None of the above

A coss drainage work is called a siphon, when it carries the canal water

(A) below the drainage under pressure

(B) below the drainage at atmospheric pressure

(C) above the drainage at atmospheric pressure

(D) None of the above

The capillary fringe water is also called as
(A) suspended water

(C) gravity water

(B) vadose water
(D) all of above

The spillway, which can be adopted with case on gravity as well as earthen dam is

(A) Ogee spillway

(C) Both Ogee and Chute spillway

A shaft spillway is located

(A) inside the body of gravity dam

(C) inside the downstream reservoir

Lug angles are

(A) Used to reduce the length of connection
(C) Increases shear legs

(B) Chute spillway
(D) None of these

(B) inside the upstream reservoir
(D) on the flanks of the main dam

(B) Unequal angles
(D) All of above

Most efficient and economical section used in beam is

(A) circular section
(C) Isection

Maximum deflection in steel beam is limited to

L
A 360

L
© 100

(B) angles
(D) H section

L
(B) 250

L
(D) 325

According to IS specification, the maximum pitch of rivets in compression is

(A) lesser than 300 mm and 32t
(C) lesser than 300 mm and 24t
The bending equation is written as

M_ o E
A 7 y R
oM o _E
© =, "¢

(B) lesser than 200 mm and 12t
(D) lesser than 200 mm 16t

I _o E
(B) 3y y R

M? o? E?
O TR
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179.  Effective length (£, ) of column when one end fixed and other end pin joined is

l
(A) Loy =1 ®B) Loy = 7
L
(©) Loy =3 (D) Loy =20
180. If 5, and o, are principal stresses, the shear stress on the principal planes is given by
(A) Zero (B)o,-o0,
_— D _—
© (D) =
181. Castigliano's theorems are valid for
(A) elastic structures (B) truss
(C) beam (D) linear structures

182. Relation between E, K and C is given by

(A)E = 9ke (B)E=3k+c
3k+c 6ke
(C)E = 6ke (D) E = 3ke
k +3c 3k+c
183. Slope definition method is
(A) Equilibrium method (B) Deformation method
(C) Stiffness coefficient method (D) All of above
184. The Notch angle for maximum discharge over a triangular notch is
(A) 30° (B)90°
(©)60° (D) 120°
185. Reynolds number is
Viscous force Inertia force
Inertia foce Viscous foce

Frictional force

D fth
Viscous foce (D) None of the above

186. Bernoulli's equation assumes that

(A) fluid is non viscous (B) fluid is honogeneous
(C) flow is steady (D) All of above
187. Coefficient of discharge of an orifice is varies from
(A) 0.61 to 0.65 (B) 0.95t0 0.99
(C) 0.57t0 0.60 (D) None of the above
188. The point at which the resultant pressure on an immersed surface acts, is known as
(A) Center of gravity (B) Center of pressure
(C) Center of depth (D) Center of immersed surface
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189. Shape factor for rectangular section is
A1 (B) 1.5
020 (D) 2.5
190. The influence line for any stress function are used for obtaining the maximum value due to
(B) Uniform live load only
(D) All of above

191. A three hinged parabolic arch subjected to uniform load, ‘w’ per unit horizontal length, the
maximum bending moment is

(A) Single point load only
(C) Several point loads

we? we?
(A) 4 (B) 3
W
© 12 (D) Zero
192. The ............. rocks are formed by the cooling and consolidation of molton rock matter called
magma
(A) igneous rock (B) metamorphic rock
(C) Secondary rock (D) All of above

193. Rocks made up of the coarsest material like pebble etc. are
(A) Silty rocks (B) Argillaceous rocks

(C) Rudaceous rocks (D) Arenaceous rocks
194,  ..ovvvennnee are wall like masses of igneous rocks cutting across bedding planes and are formed by
injection of magma along tensional cracks
(A) Folds (B) Overthurst
(C) Dykes (D) Faults

195.  Which type of rocks are formed by deposition of product of rock weathering

(A) Ignecous rocks (B) Argillaceous rocks
(C) Secondary rocks (D) None of above
196. Felspars are the most important minerals in
(A) Metamorphic rock (B) Secondary rock
(C) Hypabyssalrock (D) Igneous rock
197. The critical path of network shown below is
@ 6/8' @ — @ {A @ 12
—3 @ 10 @ P N @

(A)1-2-4-7-9
(C)1-3-5-7-9

(B)1-3-6-8-9
(D) BothA & B
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198.

199.

200.

201.

202.

203.

204.

208.

206.

207.

208.

Formula for cost slope is

A) Cost s _ Normal time — Crash time B) Cost sk B Crash time — Normal time
(A) Cost slope = Crash Cost — Normal cost (B) Cost slope = Crash cost — Normal cost

Crash cost — Normal cost Crash cost — Normal cost
(C) Cost slope = (D) Cost slope =

Crash time — 1 Normal time — Crash time

Atemporarty structure which is constructed so as to remove water and /or soil from an area and
make it possible to carry on the construction work under reasonably dry condition is known as

(A) Caissons (B) Cofferdams
(C) Sheet piles (D) None of above

A person should not be employed for more than one shift and duration of one shift should not
exceed 12 hours. If it exceeds then it will result in paralysis, heart dieases etc. This will be applicable
for

(A) Box cassions (B) Wells
(C) Pneumatic cassions (D) None of above

The vertical members which are fixed beween string and handrail to give support
to handrail are

(A) Balusters (B) Newel posts

(C) Handrails (D) Scotia

In paints, the pigment is responsible for

(A) durability (B) smoothness

(C) colour (D) glossy surface

The base material for distemper is

(A) Chalk (B) Lime

(C) Lime putty (D) Cement wash

Spirit varnish generally consists of

(A) oil, wax and resin (B) alcohol, wax and turpentine
(C) pigment and synthetic resin (D) spirit and shellac

The staircase in residential building should not have rise of more than ............... mm and going of
less than.............. mm

(A) 230 mm and 250 mm (B) 300 mm and 250 mm

(C) 230 mm and 230 mm (D) 275 mm and 275 mm

The value at the end of utility period without being dismantled is

(A) Scrap value (B) Market value

(C) Salvage value (D) Book value

Lead and lift for normal earthwork will be considered

(A) 40 M and 1.5 M respectively (B)30 M and 2.0 M respectively
(C)30 M and 2.5 M respectively (D) 30 M and 1.50 M respectively
The pH value of water used for construction work shall not be less than

A)8 B9

©e D)5
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209. Which methods are based on measuring a concrete property that bears same relationship to

strength
(A) Rebound hammer (B) Ultrasonic pulse velocity
(C)BothA& B (D) Neighter Anor B

210. No deduction is made for opening, bearing in masonry when,
(A) Opening eachupto 1000 sq. cm.
(B) Bed plates, wall plates, bearing & Chajjas and like upto 10 cm depth
(C)BothA& B
(D) None of the above
211.  Critical path of following network is

QT
/'
\@>f@/g'@

(A)1-2-5 (B)1-3-4-5
C)1-2-4-5 (D) All of above
212. Total duration of Network given below is

O D——®
—1 - >
o=

(A) 17 days (B) 18 days
(C) 19 days (D) 20 days
213. In aslab alternate bars are bent up at a distance of
l {
(A) 7 from centre of support (B) 3 from centre of support
{
©) s from centre of support (D) None of above
214. The minimum percentage of longitudinal steel in a column is
(A) 0.7% (B)1.0%
(©)0.5% (D) 0.8%
215.  As per IRC, Ruling gradient for plain or rolling type of terrain is
(A)1in16.7 (B)1in20
(C)1in30 (D) None of above

216. The vertical deflection of a gantry girder should not exceed the value, where the cranes are
travelling overhead and operated electrically upto 500 kN.

(A) 500 (B) ﬁ
L L
© To00 ) S0o
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217.

218.

219.

220.

221.

222.

223.

224.

225.

226.

227.

228.

229,

An Isobar is a curve which

(A) joins points of zero vertical stress
(C) joins points of equal horizontal stress
A manometer is used to measure

(A) atmospheric pressure

(C) moderate pressure

Function of curb is

(A) to facilitate and control drainage

(C) to delineate the parement edge

(B) joins points of maximum vertical stress

(D) joins points of equal vertical stress

(B) low pressure
(D) high pressure

(B) to strengthen the pavement edge
(D) All of above

A prime coat is an initial application of bituminous material having

(A) low viscosity

(B) high viscosity

(C) medium viscosity (D) None of above

Under reamed piles are generally

(A) driven piles (B) precast piles

(C) bored piles (D) All of above

A line joining places of equal rainfall is called as

(A) hytograph (B) isobar

(C) isotherm (D) isohyet

For design speed of 65 km / hr. coefficient of lateral friction as recommended by AASHTO is
(A)0.16 (B) 0.14

(©) 015 (D) 0.12

The neutral axis of balanced section is called as

(A) Normal neutral axis

(C) Balanced neutral axis

Unit of measurement of skirting is
(A) RMT (Running Meter)
(C)Sq. M. (Square Meter)

As per IRC58 : 2002, for design of Rigid Pavement, coefficient of thermal expansion of concrete

(oc) willbe considered as .................
(A) «c =10 x 106 per °C
(C)oc =10 x 103 per °C

(B) Critical neutral axis

(D) Actual neutral axis
(B) Cu. M. (Cubic Meter)

(D) Kgs. (Kilograms)

(B) c =10 x 10~¢ per °C
(D) None of above

If the fore bearing of a line is N26° 35' W, its back bearing will be

(A)N26°35'E

(C)S26°35'E

Contour lines cross ridge or valley lines at
(A) 30°

(C) 60°

(B) S 26° 35' W
(D) N 53°25'W

(B) 45°
(D) 90°

Coulomb's equation for shear strength can be represented as

(A)s=oc+ctan0
(C)c=s+octan0

(B)s=c—octan0
(D)c=s—-ctanb
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230.

231.

232,

233.

234,

235S.

236.

237.

238.

239.

The discharge through an external mouthpiece is given by

(A)1.855 a H /2¢g (B) 0.855 a /2gH
(C)1.583 %2gH (D)5.85aH ,2¢g
Purpose of providing surge tank is to prevent

(A) excessive turbulance (B) surge waves
(C) water hammer (D) cavitation

The ratio of inertia force of a flowing fluid and viscous force of the liquid is called

(A) Euler's number (B) Froude's number

(C) Reynold's number (D) Weber's number

Bitumen is derived from

(A) destructive distillation of coal tar (B) destructive distllation of petroleum
(C) fractional distillation of petroleum (D) naturally occuring ores

Benkelman beam deflection method is used for design of

(A) rigid overlay on rigid pavement (B) flexible overlay on flexible pavement
(C) flexible overlay on rigid pavement (D) rigid overlay on flexible pavement

Increase in effective stress on a soil mass —

(A) increase in void ratio and decrease the permeability

(B) increase in void ratio and increase the permeability

(C) decrease in void ratio and decrease the permeability

(D) decrease in void ratio and increase the permeability

The soils which are transported by the running waters are called
(A) aeolian soils (B) marine soils
(C) alluvial soils (D) lacustine soils

The moment of Inertia of rectangle from which a coaxial symmetricalrectangular hole has been
punched out is —

B, B W B, _mB W

A) I = B) I
(A) Lo 12 12 Y 12 12 (B) L 48 48 7Y 48 48
(C)I —BH2 _E —HBZ _E (D)I —BH2 _ﬁ& —H32 _E

* 12 12 Y 12 12 X 48 48 Y 48 48

Slenderness of a column of effective length ¢ y > and least radius of gyration is

14 £
@) £ (B) J;

¢ ¢
©) -7 (D) 5,
Resilience is the strain energy stored in a specimen when strained within
(A) limit of proportionality (B) Elastic limit
(C) Yieid stress (D) None of these
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240.

241.

242.

243.

244.

245.

246.

247.

248.

Moment of Resistance (Mr) of the composite beam is -
Where : b =breadth of wooden beam

d =depth of section

t = thickness of steel plates

oy = stress in wood

m = modular ratio

2 2
(A) Mr=owx —(b * Z;nt)d (B) Mr=gog4x —(b * Z;nt)d
2

(C) Mr=0gx owx G+ 2mi)d” 2;’”)d (D) None of above
Poisson's ratio is

Lateral Strain Linear Strain

Linear Strain Lateral Strain

Lateral Strain D) load

Linear Stress area
The ratio of hoop stress in cylinder to hoop stress in spherical shell is equal to
A1 (B)3
©)2 D)4
The standard penetration test is useful to measure
(A) Shear strength of sands (B) Consistancy of clays
(C) Shear strength of soft clays (D) None of above
In a tube well driven in a confined aquire if the draw-down is doubled, the discharge increases
(A) 16 times (B) 4 times
(C) 2 times (D) 8 times
Vaccume well points are generally used for draining
(A) Coarsed sand (B) Fine sand and silty sand
(C) Silts (D) Clay
Chemical grouting is generally used for
(A) Clays (B) Fine sand and coarse siltes
(C) Medium and fine sand (D) Coarse sands
Precompression method is useful for compacting
(A) Silts (B) Clays
(C) Organic soils (D) All of above
The angle of the failure plane with the major principal plane is given by

¢V
(A) 45°+ ¢’ (B) 45° - >
¢V

(C) 45°+ B} (D) 45°—¢'
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249.

250.

251.

252.

253.

254.

258.

256.

257.

258.

259.

When drainage is permitted through out the triaxial test, the test is known as

(A) Drained test (B) Quick test

(C) Consolidated undrained test (D) None of above

The frost heave depth as percentage of soil depth in fine sands and silts is about

(A)5t010% (B)20t0o30%

(C)4to 5% (D)10to 15%

The maximum particle size for which Darcy's law is applicable is

(A) 0.5 mm (B)2.0 mm

(C)0.2 mm (D) 1.0 mm

The relation of minimum specific energy and critical depth is given as
1 3

(A) Eyyy = 5 he (B) Epyy = - he

(C) Epin = % he (D) Epip = % he

Dry mortar required for construction of brick work of volume is

(A) 25% (B)26%

(C)28% (D) 30%

.............. is the number of vehicles occupying a unit length of lane of road way at a given instant
(A) Traffic density (B) Traffic volume

(C) Traffic capacity (D) Basic capacity

‘Obsolescence’ in valuation is

(A) Value of property become less because of rumour

(B) Value of property become less because of out of date syles design
(C) Depreciation

(D) None of the above

Sanitary traps are having following types as per their shape

(A) P-trap (B) Q-trap

(C)S-trap (D) All of above

Percentage of ......cccceveeeeeene of estimated cost is included in the estimate for work charged
establishment

(A)0.5% to 1% (B)2% to3%

(C)1.5% to 2% (D) No cost is included

The pH of sea water ranges between

(A)5to7 (B)6.5t07.5

(C)7.5t08.4 (D)8to9

Method of controlling sulphate attack is

(A) Use sulphate resisting cement (B) High pressure steam curing
(C) High alumina cement (D) All of above
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260.

261.

262.

263.

264.

265.

266.

267.

268.

269.

270.

Autogeneous shrinkage is phenomenon of

(A) Evaporation from surface concrete

(B) No moisture movement in concrete is permitted when temperature is constant
(C) Absorption of surface of aggregate

(D) Loss of free water from harden concrete

Concrete shall be placed in thickness not more than................ cm and on initial placing in thickness
not more than................. cm

(A)30 cmand 10 cm (B) 60 cm and 10 cm

(C)30cmand 15 cm (D) 60 cm and 15 cm

Factor which is not affecting to workability

(A) Shape of aggregate (B) Surface texture of aggregate

(C) Capacity of mixer (D) Use of admixture

Asand having a fineness modulus and more than ............... will be unsuitable for making satisfactory
concrete

(A)3.2 (B)3.36

(©)4.75 (D) 4.26

Line of balancing techniques used in construction to

(A) balance resources (B) balance requirement of mile stone

(C) balance running account bills (D) balance progress of work

Bar chart encounters limitations like

(A) Interdependencies of activities (B) Use for only small projects
(C) delay can not be detected (D) All of above

Direct cost and Indirect cost of project are .........ccc...o. respectively with time
(A) increasing and decreasing (B) decreasing and increasing
(C) increasing and increasing (D) decreasing and decreasing

Tail event in network of project is where

(A) activity begins (B) activity ends

(C)BothA& B (D) None of above

Conjugate beam method is applied to detemine

(A) Shear force at a point (B) Bending moment at a point
(C) Slope and deflection at a point (D) None of above

When a number of load pan on simply supported beam absolutely maximum bending moment
will occur at a point when the loads lie on the beam when

(A) Heaviest load is at the centre
(B) The load nearest to the resultant to be at the centre

(C) At a point under the load such that the resultant and that perticular load is bisected by
center

(D) None of above

The stress at which a material fractures under large number of reversals of stress is called
(A) endurance limit (B) ultimate strength

(C) creep (D) residual stress
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271.

272.

273.

274.

275.

276.

2717.

278.

279.

280.

281.

For the maximum dry density the percentage of particles passing 75 size is about

(A) 20% (B)40%
(C) 60% (D) 80%
The water content of a highly organic soil is determined in an oven at a temperature of
(A) 60° (B) 105°
(C)27° (D) 90°
For most economical rectangular section, the hydraulic mean depth is
(A) twice the depth of flow (B) half of depth of flow
(C) equal to depth of flow (D) None of above
Which one is the correct expression from the following for loss of head due to sudden enlargement
(A) (U (B) "-r)
2 2g

) i -")
© — 5 Ry
On hill roads not bound by snow, maximum superelevation up to ............... percent has been
recommended
(A)9.5 (B)10
©O)10.5 M) 11
The term liquidated damage is an amount of compensation payable by contractors, related to
(A) damage of property (B) delay in work
(C) delay in mobilization (D) None of above
Prismoidal formula for calculation of volume of tropzoidal footing is

L L
(A) 6 (A;+A,+4 Am) (B) N (A;+A,+4 Am)

L L
(©) 4 [(Arx Ay +4Am] (D) 5 [(Arx Ay +4 Am]
Diameter and length of temping rod used for slump cone test is
(A) 12 mm and 500 mm respectively (B) 12 mm and 600 mm respectively
(C) 16 mm and 500 mm respectively (D) 16 mm and 600 mm respectively
As per Indian standard, ...........c..... grading zones are available
(A)2 B)3
©)4 D)5
Cost optimization techniques in networking is called as
(A) Resource levelling (B) Resource smoothing
(C)Resouce updating (D) Crashing
From the following which is not the logic of precedence of network
(A) Finish to Start (B) Finish to finish and start to start
(C) Start to finish (D) Start to start combined with finish to finish
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282.

Application of three moment Theorm is also called as

(A) Euler Theorem

(C) Mohr's circle of stress

(B) Bernoulli's theorem

(D) Clapeyron's theorem

283. For an undisturbed sample, the are ratio of the samples should be
(A) 10% or less (B) Zero
(C) 10% to 20% (D) More than 20%
284. The velocity of sound in terms of bulk modulus is
(A)c= \/E B)c= \/E
C r
JE k
C)c= g D)c= rg
285. Kinematic viscocity is expressed in ............ (mks and SI system)
(A) Stokes, 104 m?/sec (B) Poise, 10~¢ m?/sec
(C) Stokes, 102 m?/sec (D) Poise, 102 m?%/sec
286. The stetting time of concrete is found out by
(A) vi-cat appratus (B) Needle appratus
(C) Pentrometa test (D) K-appratus
287. Seperation of coarse aggregates from concrete during transportation is
(A) Segregation (B) Bleeding
(C) Creeping (D) None of above
288. Efflorescence in cement is caused due to excess of
(A) Silica (B) Lime
(C) Alkalines (D) Iron oxide
289. As per IRS 58 : 2002, it is recommended that the basic design of slab be done with ........... axle
load.
(A) 50" percentile (B) 85" percentile
(C) 98t percentile (D) 15 percentile
290. Relative density of a sandy soil is given by
€max ~ €min €max ~ @nat
(A) emax - enat (B) emax - emm
€. —e.. €ax — Cmin
291. Double mass curve technique is followed to
(A) Check the consistancy of rain gauge records
(B) Find the average rainfall over number of years
(C) Find the number of rain guages required
(D) Estimate the missing presipitation value
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292,

293.

294,

295.

296.

297.

298.

299.

300.

The web cripling due to excessesive bearing stress can be avoided by

(A) providing suitable stiffness

(C) Increasing the web thickness (D) None of above
A perfect frame should satisfy the relation
A)ym=2j-3 B)ym=2j—4
C)m=3j-2 MD)m=3j-3
The Manning's formula is
1 21
(A) V=;R3S2 (B) ¥V=0.85 C;* R"63 ¢ §0.54
©Vv=cJmi (D) None of above

Hydraulic grade line

(A) remain above the centre line of conduit

(B) remains below the center line of conduit

(C) remains paralled to centre line of conduit

(D) may be above or below the centre line of conduit

Slope and deflection method in structural analysis falls in category of

(A) Force method (B) Flexibility method
(C) Consistant deformation method (D) Stiffness method
Clinder should be made from

(A) Coal ash (B) Lime

(C) Surkhi (D) None of above
Permissible stress of power driven type in shear is

(A) 80 MPa (B) 300 MPa

() 100 MPa (D) 250 MPa

Silica fame has specific area about

(A) 15000 m?*/kg (B) 1500 m*/kg

(C) 20000 m?/kg (D) 2000 m?/kg

Rules and methods of measurements of works and taking out quantities is given in
(A)IS: 1201 (B)IS: 1120
(C)IS:1200 (D) IS:2100

(B) Increasing the length of bearing plates
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